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QUESTION 1

Which PowerMax software packages include NorvDisruplive Migration?
A. FX and Pro

B. Essentials and Pro

C.Fand FX

D. F and Essentials

Correct Answer: A

QUESTION 2
DRAG DROP

On a PowerMax what is the correct sequence of steps to deduplicate data?

Select and Place:

Correct Answer:

QUESTION 3

DRAG DROP
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What is the correct sequence of steps to obtain PowerMax licenses and ensure the PowerMax is configured to allow the
licensed features to work properly?

www.CertBus.com‘f https://lwww.certbus.com/des-1121.html

Select and Place:

Correct Answer:

QUESTION 4

What are the Compliance levels tor Storage Groups in Unisphere for PowerMax?
A. Critical, Marginal. Warning, and No Status

B. Fatal Critical Warning, and No Status

C. Fatal. Critical. Stable, and No Status

D. Critical, Marginal. Stable, and No Status

Correct Answer: D
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QUESTION 5

Two RDF groups from two PowerMax arrays have been added to a Consistency Group SRDF/A Multi-Session
Consistency has been enabled for the Consistency Group. The RDF daemon has been started on a single host that has
access to both the PowerMax arrays

What will happen if the host becomes unavailable?

A. Cycle switching will stop

B. RDF links will be suspended immediately

C. SRDF pair state will become Partitioned

D. SRDF mode will change to Adaptive Copy Disk

Correct Answer: C

QUESTION 6

An array has reached its capacity m the Storage Resource Pool (SRP). What is the function of the SRP Reserved
Capacity?

A. Accommodate new host writes

B. Accommodate SRDF/A delta sets
C. Provide space for snapshot deltas
D. Provide space for snapshot copies

Correct Answer: B

QUESTION 7

SRDF/A has been enabled between two PowerMax arrays in Multi-Session Consistency mode An extended loss of all
RDF links occurs. What will the RDF pair states be after link connectivity is restored?

A. Partitioned
B. Failed Over
C. Split

D. Suspended

Correct Answer: A

QUESTION 8
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Where are the Host I/Os directed to when the Storage Group is in a Non-Disruptive Migration CutoverReady state?
A. Source array only
B. Held in host cache
C. Source and target arrays

D. Target array only

Correct Answer: D

QUESTION 9
DRAG DROP

An SRDF/Metro pair was created with vWitness After a network outage, the administrator discovers that the SRDF pair
is in an ActiveBias state What is the correct sequence of events to bring the SRDF pair into an ActiveActive state?

Select and Place:

Correct Answer:

QUESTION 10

A. Balanced
B. Never

C. On Failure
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D. Always

Correct Answer: B

QUESTION 11

Two PowerMax arrays have been configured for replication using SRDF During a disaster recovery operation production
has been transferred to the R2 devices at the target site. Which operation begins the transfer of accumulated invalid
tracks from the R2s to the R1s while production work continues on the R2s?

A. Update

B. Fallback

C. Resume

D. Failover

Correct Answer: C

QUESTION 12

In Unisphere which role has limited privileges that can only view the information about a storage array and is unable to
make any configuration changes?

A. None

B. Monitor

C. StorageAdmin
D. Auditor

Correct Answer: B

QUESTION 13

What would the RDF device and Link states be after an SRDF Update operation?
A. R1=WD Link=RW. R2=RW

B. R1=RW Link=NR. R2=RW

C. R1=WD Link=NR R2=RW

D. R1=RW Link=RW; R2=WD

Correct Answer: D
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QUESTION 14

From an application perspective what should be done prior to performing an SRDF Fallback operation?
A. Continue accessing the R2 devices Start accessing the R1 devices before running the command

B. Stop accessing the R2 devices Run the command and then start accessing the R1 devices

C. Stop accessing the R2 devices Start accessing the R1 devices before running the command

D. Continue accessing the R2 devices Run the command and then start accessing the R1 devices

Correct Answer: B

QUESTION 15

What is the performance metric for the read-to-write ratio of workloads on a specific logical block address?
A. Workload clustering

B. Workload type

C. Prefetch

D. Data spanning

Correct Answer: B
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